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Ml B 45 45 .6 | 35.4H 53( | )1 E %% 50 50 | 12.0 .0
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60 | B &)Y 45 45 .6 | 35.4| L VAEANT == ¢ 43 43 | 4.8 .2
WL | AR R 49 49 .2 | 35.8/H S5THL | RAE B 43 43 | 4.8 .2
8L | Ak Wz 42 42 .0 | 36.0H 8| K #ET 43 43 | 4.8 .2
o | F H+ 48 48 .0 36.0Y SONE |18y EE 43 43 | 4.8 .2
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EEAR) R = 46 46 | 9.6 | 36.4 640 FnH  Z&— 42 42 | 3.6 4
1607 | PHEr Hd ‘ 46 46 .6 | 36.4 VAN S ni=) 42 42 | 3.6 4
1607 | a1 A 46 46 .6 | 36.4 6607 | E4  IEME 48 48 | 9.6 .4
L70L | 1Ll 35 45 45 .4 36.6 67T | 8 HET 48 48 | 9.6 4
180 | [ FHl 45 45 .4 36.6 6807 | KB Bhl 54 54 | 15.6 4
1907 | RA& 51 51 .4 36.6 6907 | /NH B A 54 54 | 15.6 4
20037 | [An  HERR 50 50 | 13.2 | 36.8 | TRE 7007 | A1 HER 47 47 | 8.4 6 | TE
2107 | IR EEK : 50 50 .2 ] 36.8 TI467 |84 AR+ 47 47 | 8.4 .6
2200 | Tk HEE 50 50 1 13.2 | 36.8 200 | K S 53 53 | 14. 4 .6
230 | AV HAh 50 50 | 13.2 | 36.8 T3 /N IEXR 53 53 | 14. 4 .6
2447 | A FE ‘ 43 43 .0 37.0 T | fEH ' 53 53 | 14. 4 .6
2507 | FERA ﬁé& 49 49 .0 | 37.0 7507 | M e 46 46 | 7.2 .8
2607 | 5T Sk — 49 49 .0 | 37.0 1607 | = R 52 52 1 13.2 .8
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SMV | mZe TERR 47 47 .6 | 37.4 84 | ITHE  AEIR 45 45 | 6.0 .0
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4567 | FE R 45 45 .2] 37.8 9547 | Fk &) 56 56 | 16.8 .2
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47hr | i By 51 51 .2 37.8 9Thr | AR N & 49 49 | 9.6 4
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101437 | JH  Hiv 3 55 55 | 15.6 | 39.4 1510 Mg #h © 53 3 53 | 8.4 | 44.6
1027 | e JIEYS b4 ; 54 | 14.4 | 39.6 1520 | RA R FEC ; 65 65 120.0 | 45.0
103037 | B i - 54 ; 54 | 14.4 | 39.6 16307 |3 I ; 65 65 [20.0 | 45.0
10447 | FEA TEFN | 41 41 | 1.2 39.8 15447 | [l 3% | . 66 66 | 20.0 | 46.0
10507 | AR #75 : 47 47 | 7.2 39.8 165507 | ¥EH EF : 63 63 | 16.8 | 46.2
10607 | 33 VEE 47 : i A7 | 7.2] 39.8 1560 | fN  #h 7] i 61 61 |14.4 | 46.6
10747 | 1hth S 3 - 53 53 |13.2 | 39.8 I57TH7 | &5 H 67 3 3 67 120.0 | 47.0
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LI3QZ | 1A % 51 ; ; 51 |10.8 | 40.2
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122057 | bAF  FRT ; - 59 59 | 18.0 | 41.0
12307 | 351 1 58 ; : 58 | 16.8 | 41.2
12407 | kK HERE 51 ; : 51| 9.6 | 41.4
1250 | #KBF  F5 1 | 50 . 50 | 8.4 | 41.6
12607 | At ER - : 50 50 | 8.4 | 41.6
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13147 | ki 7% 54 3 : 54 [12.0 | 42.0
13202 | Al 5L+ : - 60 60 | 18.0 | 42.0
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1460 | A EA | 59 59 | 15.6 | 43.4
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